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COMMERCE
( Regular Core)
Paper : COM-RC-2026
( Business Mathematics and Statistics)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

Write the answers to the two Groups
~ in separate books.

LN
GROUP-A

- (Business Mathematics)
Marks : 30

1. Answer the following questions : 1 x4=4

©ER [qrpicA bif4bT eig Tel o

(a) Find the value of x if
x % AW a1, af

4 5

= -4
x 9

Contd.



-

(b) Find the mean proportional between 50
and 128.

50 i@ 128 4 SEETElgels) fef @i

(c) In case of compound interest, what is
the formula for ‘Amount’ if interest is
compounded quarterly.

T o ARCNY BT & TR I 27, (907
bagfa oI (RIS ME barqiad JA! [F 247
(d) Fill in the blank : |

d :
where x denotes the volume of output.

T x-q TeAime ANJE SARwIT Jenierz|

Answer the following questions :  2x3=6
SaSLIGIEE U AT
(a) If (3)

A___[—s 4 7 B 8 -2 -6
-3 -6 2| 7 =470

Find (R =) : 6A4-4B.
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(b) Evaluate (4 <@ 1) :

1. y+2z X
1l z+x y
1 x+y z

(c) Find (Rda )
% (x log x)
. - Oor (52d1) -
_‘ Evalliate (= [{fa ).

x> -x-2

Lim 5
x>2 x" -4

. Answer any two of the followmg questlons |

- 5x2=10
(@ Show that (Gr{ed C7)
| —‘a"? ab a | |
ab ~b* bc|=4a’b’c?®

2

ac - bc -c¢
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(b) A certain sum of money: invested at
C.I. amounts to 32 420 at the end of 2

_years and to 22, 662 at the end of 3

years. Find the rate of C.I. and the
‘sum invested.

bt o ARl @IE [ie FrE 2 TEw
foige 2,420 W% 3 IF [© 2,662 57 2|
b OT QT Wl T fRefa =

() A and B together can do a plece of
work in 15 days. They work together

- for 8 days, when A leaves and B finishes

the work in 15 days more. In how many
days can A alone finish the"WOrk 'P .
A W% B (@ GG @I @6 @ 15 fqe
(i FRI AR @ GIeiesl 8 T N 1
e A @ I G M M@ = B @ I
o FRA wfele 15 e o & (o
T S A 1SRRG BIICO! (41 R AR 2

(d) Find (ﬁ‘fﬂ 1) - |

(i) . the average proﬁt function, and

(i) the margmal profit function for the
following total profit function (z)

where 7 = 2Q2 -150+20 |
- Evaluate them at Q=3 and QO=5.

4 (Sem-2/CBCS)BMTSYG 4



weTe Rl Yo oS T 7 F [ TS

7 =20%-150+20

(i) . T ACS Felvl, AT

(i) 2ifes s T [Wefg <=
Q=3 T Q =5 I3 FikeTIe i e 3= |

4. Answer any one question : 10x1=10
el fRicHic @by e Tes vl ¢

(a) Solve the following system of equations
- by Cramer’s rule :

(TR TR TR TN (2] TG 0 3

| x+y+z = 3 |
2x-3y+5z = 4
x+2y-4z = -1

(b) (i) The producer, the wholesaler and
 the retailer make 10%, 15% .and

25% profit respectively. What is the
production cost of a pen which a
customer buys from the retailer

for Rs.12.65 ? 6 .

TeAERIS], ARSI Rl o IRl
oz T 10%, 15% SR 25% &
3@ | I (Toig Yl Ko #[11 12.65

B Bl TN B (90T TANCHIN T
aw e
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(i) 1 @)

1 2] (-2 -3]
A=|3 4 and B = 1 0
4 -3 e A o

then find the matrix C so that
A+B+C=0, Where O represents
null matrix. 4

(ST C. GNeasFo! ey w11 o
A+B+C=0,39 0 m*lﬂ]cﬁ’mw

t Eeeetl 3
(c) (i) Prove that (e = @) 5
el o

1'b b*|=(a-b)(b-c)(c-a)
1 c .cz, ‘ o
) If (3R M el s

: 1 ==}
|2 %
then (CSC®) verify that (?JSIT‘-T 1 @)

A% +3A+4I=0
where O is the 2x2 null matrix
- and I is the 2x2 unit matrix.

- TO 0 @ 2x2 X (erww oS [ (3
O (Ve SRR
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GROUP-B
( Business Statistics)
Marks : 50

Answer :Question Numbers 1,2 &3
and any three from the rest.

1; 2 ¥ 3 F¢ 2% ©GF R WF 0] 2N[I5T 29[
Ricwicat fefavrs ©ev &R

1. Answer the folllowing‘ questions :  1x4=4

o) TR Ted 14l

(a) Cost of living index numbers are also

known as. . (Fill in the blank)
G & 9 IS gfere ol AT |
X (N=T1 912 eR)
(b) Select the correct answer :
% Oed 5 1 ¢

(i)  If the correlation coefficent between
x and y is negative then the
regression coefficient of x on y is

W x % y I NG FT2ATH BN A
2 (908 x T y I NGF T 3

(a) positive (¥19F)
(b) negative (JFH)
(c)‘ _ not certain (SIR*59)
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(ii) Standard deviation is dependent

on the_ change of
21 RowT 7 ARAGT oI e
@ origin (WA
(b) scale (FR¥)
o) otigi End shale
(ﬂﬁﬁ"'ﬁ o fRR)

(d) None of the above
(eoRT Ble )

(c) At what point “do the tWo' lines of

| regressmn 1ntersect ?

WWWWWWW?

2. Answer the followmg questions :  2x3=6

(a) leen byx——O 9 and bxy =
Find r. |

il ©iite, byx=-0.9 W% by = 0.4
(OC% r I I Refg =1
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(b) If FM) Mean () = 26,
Median (3gs0) =22.
Find Mode.

T el |

(c) A.M and G.M of two observations are
10 and 8. Find there H.M.

@T@Wﬁa TAGT S S SCET gy 10
i 8| SR O T ik el =

.3 Answéf any two of the following questions:
- | 5x2=10
(a) Determine mode for the following
distribution : |
S I AW ITT e <
Marks : | 0-9 10-19 20-29 30-39 40-49
(%)
No. of students : 27 34 48 28 13
(@R k)
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(b) Given (ﬁmwmi)
Y X=56, > Y=40, 5 X =524,
Y y? =256,ZXY=364, n=8,
Find r(X,Y).

r(X,Y) 93N ey =i

(c). What is a regression line ?. When are
the two regression .lines identical ?
Mention any two properties of
regression coefficient. - 2+1+2=5

T (@2 2 yoie AN (@2 &roTt APt
2 IR RN Ry 707 CATE) Srerd 1|

(d) Define ar1thmetlc mean. Discuss the

relative merits and demerits of

arithmetic mean.

Wmmw\wﬁmnwmmwﬁw
@39 i cmwgwmww|

4, - Answer any three questlons .- 10x3=30

o At OB e e o

(a) - (i) Calculate mean, standard
deviation and variance for the
following distribution : 3+3+1=7
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wed RIS [ereRe AT G, T
Ripem o= e fdf s ¢
Marks 1020 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100
) |
No.of students 5 615 10 5 4 2 2 1
R
(i) Mention the characteistics of a

- good average. 3

ﬂﬁ@ﬁ‘fmmmaﬁﬂ

(b)) ()  Fita straight line trend to the time

'  series data given below and obtain
the trend value for the year 2018 :

- 5+1=6

Tﬁmmﬁw%ﬁmﬂﬁww
ol SEs ¥ Wi 2018 BN [

Toimfon im e = ¢

Year : 2015 2016 2017 2018 2019
@ |

Sales (i’OOO) .35 56 79 80 40
&1 (1000 ) -
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(i) Write a brief note on the

usefulness of index number. 4

I eIl T «ft 53 C‘D‘m
feT=ir | e gl
(c) (i) For the data given.'below.' find ‘the
| two regression l'ines 3. Jedild
IASIS Lo W qE T'IW @‘QIT @Tc"f
et = ¢
XY
Mean (147) 36 8

. SD. (3 o) 11 s
Corrélation coéfﬁcient : 0.66
(=T @Gﬁ‘@f)i |
Find the value of X when Y 75
Y =75 R X T IW Bl 11|

(i)  Given two regressmn €quations as

| follows e, 3

Lo
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'Ili“iqmw\'_)ﬁfﬁ‘lwﬁm_
g 2 _

~ 4X-5Y+31 = 0
and 20X -9Y-107 = 0

Find X and Y.
X 9% ¥ I A e
(d) () From the following data of marks
obtained by 10 students in
Statistics and Mathematics,
compute rank correlation
coefficient. ‘ 6
110 & FeR R Res o sfiTes
il TEE U oS BEd = (TR
s T e = |
" Marks in Statistics : 80 38 95 30 74 84 91 60 66 40
(sfRmant Resiero (AART T)
Marks in Mathematics : 85 50 92 58 70 65 88 56 52 46
(eS¢ )
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(i) Prove that correlation coefficient

is independent of change of origin
4
and scale.

e 9] (Y BeTe e SR A AAfed
NTEE @I WFS RO T |

- Define time reversal test and factor

feversal teSt. Show that Fisher’s index

‘number satisfies both time reversal test

‘and factor reversal test.

Wmmﬁwmﬁ*ﬁsﬁm@

- ol oret @ Remee e T eiferE

0

WEWMWW%WI

() Explain with €xamples : 4

CRIZIIAZ I 541
(@) Positive and negative
correlation

YR 1R AN o7

(b) Linear and non-linear
correlation

SIREE R R E -
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(i) Compute cost of living index

number from the data given
below :

e
TS R SRR o) S e
Groﬁp i ~ Group Weights Group Indices
@i (AT O (oI S5
Food (SE|) . R 40 525
‘Clothing 0 6 325
(CATRs-={fozn)

' Fuel and lighting . 0 i 180
House rent - - 7 D | - 240
(RS '35, L

 Misc (SR) 9 o200
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